KENDRIYA VIDYALAYA SANGATHAN LUCKNOW REGION
SESSION ENDING EXAMINATION-2023-24
CLASS -XI

SUB: ECONOMICS(030) /3= (030)

Time allowed: 3 Hours Maximum Marks: 80
General Instruction:
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All the questions in both the sections are compulsory. Marks for questions are indicated against each
question.

Question number 1 - 10 and 18 - 27 are very MCQ questions carrying 1 mark each. They are required
to be answered in one word or one sentence each.

Question number 11 - 12 and 28 - 29 are short-answer questions caring 3 marks each. Answers to
them should not normally exceed 60-80 words each.

Question number 13 - 15 and 30 - 32 are also short-answer questions carrying 4 marks each. Answers
to them should not normally exceed 80-100 words each.

Question number 16 - 17 and 33 - 34 are long answer questions carrying 6 marks each. Answers to
them should not normally exceed 100-150 words each.

Answer should be brief and to the point and the above word limit be adhered to as far as possible.

fadwr:
Jd% Wus & It vy et § | uds Uy & FuffRd sfp 39 g fRA M g |

T =T 1-10 3R 18 — 27 AR/ dgfadmedia Uy g, Udd Uy 1 3 H1 ¢ | TS Bl
IR Teh dTeRI/ g H &1 ST =1fed |

T /AT 11-12 3R 28 — 29 TYIWRIA TY &, UAD UY 3 3 BT 8 | TAH BT IR AHIG:
60-80 X! ¥ 3N & G111 A1 |

TS TAT 13-15 3R 30-32 TYIWIT UY 8, UAD Y 4 3% H1 § | TP BT IR FHIRIG: 80-
100 X3! & 3 et g1 a1y |

TS THT 16-17 3R 33-34 Y IR UY €, TS U 6 3 BT ¢ | TAH BT IR AMHI:

100-150 Ysal F 3fAIes &t 811 =Ry |
JR I qUT TUT YHG Xeg AT H §11 =TT |

Gus -3 ; I & e giems!
SECTION — A: STATISTICS FOR ECONOMICS

Read the following statements carefully: 1
Statement 1 — Quota sampling is a type of non probability sampling method.
Statement 2 — Under Quota sampling, the items of the universe are divided into various groups
and then quota is fixed.
In the light of the given statements, choose the correct alternative from the following:
(a) Statement 1 is true and statement 2 is false
(b) Statement 1 is false and statement 2 is true
(c) Both statements 1 and 2 are true

(d) Both statements 1 and 2 are false.
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fAgfafed syl & & 9 Ue:
HY 1- T Ui Tb YHR P TR FHTHT Ufaaa- fafd g1

YA 2 - PicT Uldad- & dgd SIS DI a¥q3fl Pi faftrd Ig! J fqurford foar Sirar
8 3R R Pier v fasan o 3 |

fau T w1 & salte H, FafaRaa o @ 9 fadwen &1 9a4 P
(a) BYT 1T T IR PYT2 TG |

(b) YT 17Ad & AR YT 2 TG |

(© ®YT13MR 23N IIT|

(d) BYT1 3R 2 AT 3T §

There are two statements given below, marked as Assertion (A) and Reason (R). Read the 1
statements and choose the correct option.

Assertion (A) : Primary data are original.

Reason (R) : Primary data are collected from the source of origin.

Alternatives:

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation  of
Assertion (A)

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of
Assertion (A)

(c) Assertion (A) is true but Reason (R) is false.

(d) Assertion (A) is false but Reason (R) is true.

FYT : TUASD 3fiche TRAB B ¢ |

PRUT: MYHS i IAfT & did T TeHHAd fhu od g1

faoeu:

(a) 3MfHBYT (A) TG BRUI (R) THI TaT § Td BRU (R) SAHBYUT (A) F Tgt AR |
(b) SMHBYUT (A) Td BRUT (R) GHI T51 § Td PR (R) 3MHBYUT (A) P Ha! RS a1 5 |

() 3HfHBYT (A) TSI § Afh HRUT (R) T B |
(d) 3MBYF (A) TTeld & A= BRI (R) TSI © |

Arithmetic mean of a series is affected by the ............... (lower/extreme) values of the series. 1
(Fill up the blank with correct answer)

Tt SRat T SB[ SRIA P ........... (rac/Ry) o § gHIfad 81T ® |

(TET IR & 1Y e I +R)

Which method is used to calculate mode? 1
(a) Inspection (b) Grouping
(c) (a) & (b) both (d) None of the above

g% Pt TUMAT fr g fafYy gRI 31 It 8 2
(a) Frdtegor (b) FHGIHRUT
(d) (@) 3R (& qrAl (d) SRIgd & T I3 gl

Define correlation. 1

TEeY & GRS & |

The correlation between price of a car and demand of a pen is : 1
(a) Positive (b) Negative (c) Zero (d) None

HR DI HIA U9 U7 Bt AT A o] Yg WY § ?
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(a) YITHD OEIRED (©) (d) DTS T8l

"Graphic location of........... is done through Cumulative Frequency Curve or Ogive.” This
statement is valid for —
(a) Mean (b) Median (c) Mode (d) None of above

" 1 Tithes R Tt 3afxy b a1 3M1ogd &b ATeaH et ST 8- | 8 By
& U AR 2 -

(a) I (b) ATFEIBT (c) SgAD (d) TS T8l
OR /31yYdTl

If the value of Median is 20 and the value of Mean is 24, calculate value of Mode.

g M1 20 UH HIed 24 § Y IgAd A1 B |

Read the following statements-

A. Diagrams simplify data.

B. Diagrams are useful in making comparison.

C. Bar diagram is a two dimensional diagram.

D. Histogram is helpful in finding median.

Which of above are correct?

(@ &l (b) I, &1l @ 1, 1, 1mr& v (d)n,n&iv

HYA Bl UG-

|. 3R ST Pl WA S & |

11. 3G T B & ITAN B § |

lll. §8 3T TS fgfaria omE &

V. 3T o HIfereT J1d PR H HeTd Il 6|

SRIFT H I D TGl 57

(@) &l (b) I, &l @I I, &IV d) I, n&i1v

Width of bar diagram need not to be equal. True/False.

S 3RW B AISTs SRR T8l a1 AT al/ TTad

When we want to classifying the data in the numerical term, which method of
classification of data is used?

(a) Qualitative classification (b) Quantitative classification

(c) Chronological classification (d) Geographical classification

9 g1 GHD! Bl TS © T H aviid BT A8 df THS il & [y iy HT
TR feaT T 82

(a) 7O THIBRUT  (b) AEATHD THIBRUT (c) HIATIHIHD B (d) HIIferw
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12

13

14

Read the following passage carefully-
The census of India provides most complete and demographic record of population.
The census is being regularly conducted every ten years since 1881.The census
officials collect information on various aspects of population such as size, density, sex
ratio literacy etc. The data collected is useful in determining tendencies in density of
population, literacy rates, infant mortality rate, sex ratio etc. census data is interpreted
and analysed to understand many economic and social issues in India.
Answer the following questions based on above passage-

A- Which method will be used to collect the data in the above passage?

B- Write any two uses of data collected under census of India?

fFrafataa i o1 e 9 ufee-

YR BT SIFRTUAT SHIReAT BT o guf 3R iRt Rebig Uer oel g1 SFRTOMAT
1881 ¥ g1 o Ira § fafiid wu & AR ot o € 81 STIUAT SYSRY SHRe %
i Tgqsit S MR, U-a@, fET SFUTd AIeRaT 3fe IR THSHRI Uhd Id § | T
foraT T ST SHRReAT U, WeRdT &), RIY) @1 ugi Auid & & Suanh g1 WRd
F3 oM SR IS gl &1 IHeH & fu O] &), fofT surd ofe SHRToMT &
il Bl TR 3R ATy forar ST B

ST TR & SMYR W Aafefad uel & 3w difom-
A- SIRIGd IR H 3HTdhs Uhd B & o8 by fAfY o1 IuanT fosar smam?
B- YR &1 SFRTUMT & 3fifd UHAd il & Pls & ITINT flkau |

Discuss the main points of difference between primary and secondary data.

WU 3R fgdias srdps & o9 Sidk & T foigaii iR =oaf # |

OR /3(YdT

Which method of data of collection has got a mention in above picture? Give merits
and demerits of this method.

SR fod & Srepsl & TIgvr &1 [y fafdy &1 fors fovam mar 82 39 fafy & o sik g
qdrgu |

What do you mean by ‘index number'? Discuss the main limitations of construction of
index number.

IHTH 1§ ? A AT S T Jrarsit & e s |

Calculate mean of the given data:

a3 U i T WL BT MU B |
| Wage Rate | Below20 | 20-40 | 40-60 | 60-80 80 and
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16

17

18

19

above

No. of Workers 2 1 4 2 1
OR /31Ydrl
Write any the merits and demerits of Arithmetic Mean.
THIOR {1 & 701 U4 Q1Y fofay |

Make Histogram of the following data and also draw frequency polygon from it.

fafaRad snwel ¥ omad fF Td gy gyYs Ry |

Marks 0-10 10-20 | 20-30 | 30-40 40-50 50-60 60-70
Number of 10 15 20 40 35 20 5
Students
Calculate Median from the following given data.
fafeiad feu gu sis! | AfeedT F1d BT |
Wages less 100-200 | 200-300 | 300-400 400 and
than above
100
No. of 40 80 50 20 10
Workers

Calculate Karl Pearson’s coefficient of correlation from the data given below-

fafafRad siids @ H1d IR & Tt TUTe & TT0HT $N -

X -SERIES | 12 15 18 21 24 27 30
Y- SERIES | 6 8 10 12 14 16 18
OR/ 31Ydl

Calculate Spearman’s Rank Difference coefficient of correlation from the data given
below-

frafaRad siwe ¥ TioREA SIS SidR At gRT TeT T[UNie HT TOFT B -

X 85 60 55 65 75 90
Y 60 48 49 50 55 62

SECTION - B (Introductory Micro Economics)
A consumer is consuming two goods X and Y and is in equilibrium. The prices of X and Y are
Rs.4 and Rs.5 respectively and Marginal Utility of Good X is 20 utils. What will be the
Marginal Utility of Good Y if Marginal Utility of Money is 5?7 (Choose the correct alternative)
(a) 100 (b) 25 (c) 50 (d) 15
T IUUIGT & TSN X 3R Y FHT ITHN FR 8T & 3R Iga A 81 X 3R Y BT HIAd HA: 4
TUY 3R 5 Y ¢ R axg X B! Aid ST 20 3978 71 Iq Y BI Fuid SuAfrar s
Bt afe ger Bt A ST 5 8 2 (@S by o1 T )

(a) 100 (b) 25 (c) 50 (d) 15

“To increase the production of one good by 1 unit more and more units of the other good
have to be sacrificed since the resources are limited and are not equally efficient in the
production of both the goods”. In this case PPC will be:

(a) Concave to the origin (b) Convex to the origin (c) Straight Line (d) None of
above.

"Th T & I H 1 SHTS B gl B P (07T gOR] ax] B! 31w F TS Fp1sal Bl AT
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21

22

HRAT ISl § Fifer Jame= i § iR a1 axgsii & I § I 0 9 $Id Tal o' | 39
AT H JeTe YHTIAT ash T FRufd giefte

%ngf%g$qﬁr&w ) A@fdgd ufdITa (o) ff @ (d) ST & A Pig

Read the following statement.
|. There is an inverse relationship between price of a normal goods and its quantity demand.
ll. When income of the consumer rises, demand for inferior goods fall.
ll. Giffen goods are the exceptions to law of demand.
Which of above are correct?
@ &Il () I, 11 &Il © 1, 1l d 11,1
frafead U= &1 ufeul
|. TTHTA G¥g &1 DI 3R ITD! AN B! AT & o9 fAuRid Tae gial

1579 IUHET Bt 31T Tl § o gfear awgail &t Hit HH 81 St §

111,70 T¥q¢ | & faw & Suare g |
SRIgd ¥ ¥ B Tal &2
(a) I &Il (b) I, 11 &Il 1! m (d) I,
OR/3YdT
A demand curve parallel to Y-axis will reflect
(a) Elastic demand (b) Perfectly elastic demand
(c) Perfectly inelastic demand (d) Inelastic demand
Y-31&f o JHMIGR U TR ash Ufafefad Hm-
(a) AIIGR | (b) G IRE W AEeR HiT
(0) I TRE ¥ dAdGR HiT (d) SEIEGR |

Read the following statements carefully:

Statement 1 - When Marginal Revenue falls but remains positive, Total Revenue also falls.
Statement 2 — Marginal Revenue can never be zero.

In the light of the given statements, choose the correct alternative from the following:

(a) Statement 1 is true and statement 2 is false (b) Statement 1 is false and statement 2 is
true

(c) Both statements 1 and 2 are true (d) Both statements 1 and 2 are false
faffed syl &1 = 9 Ue:

YT 1- o9 JHid 3 AR 8 T o-Téte e g, o o i ARar g |

FUYA 2 - HTid 3 S = 81 gidl |

fGU T Byl & sireiie H, Faferiad | 4 T8t fdebed o1 997 SifeT:

(a) YT 1 9 § 3R HYF 2 Ted & (b) FYT 1 7T § SR HUF 2 94 §

() FYF 1 3R 2 T I § (d) FYUF 1 3R 2 T 3 &

There are two statements given below, marked as Assertion (A) and Reason (R). Read

the statements and choose the correct option.

Assertion (A): When price of a good increases, demand for its substitute good rise.

Reason (R): Substitute goods are those goods which can be interchanged for use.

(a) A is true but R is false. (b) A is false but R is true.

(c) Both A and R are true and R explains (d) Both A and R are true but R does not explain A.
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24

25

ﬂ%a‘raﬁzﬁﬁwﬁ% o effiiepe (A) 3R BRU (R) $ w0 # RifRd far a1 81 Syl &1
Te 3R gl fashed &1 9g9 H1 |

AYHYT (A) : 59 fordl I Pt BT Fgdl ©, Al STD! RITTTH I P HITT Fgalt § |

HRUT (R): RITFTIH IXIE d U § g SUTNT & forg Uy & dga off IhdT 7

(a) AT § W R 3T g

(b) A TTEd § A R T &

(c) A SRR THI TG § 3R R, A P TR FRAT B |

(d) A 3R R SFI T € OB R, A 1 STRS el BT g

From the set of statements given in Column | and column Il ,choose the correct pair of
statement :

Column | Column Il
A. Supply (i) A stock concept
B. Market Supply schedule (i) Supply schedule in the industry as a whole
C. Slope of supply Curve (iii) Ratio between change in quantity supply and
price
D. Infinite Elasticity of Supply (iv)Vertical Straight line Supply Curve
HiaH | 3R HIaH (| H 3T T H=l & e ¥, HYA1 &1 Tgt siie! gl
DI | DI I
A. 3qfct (i) U Db SATURTT
B. SR 3ATYfel S (i) THIT =0 Y SN B MY S
C. 3T ah &1 gd (iii) 3Tafd ot AT 3R P H uRadd & &g &1
D. 3MTfd &I 3fd ard (iv) Aaad 1T 3MYfd 9

(a). A-(IIN) (b.) B-(ii) (c.) C- (iii) (d.) D-(iv)
What do you mean by homogenous product?
YIREY TS Y ST T GHEHd &1 ?

There are two statements given below, marked as Assertion (A) and Reason (R). Read
the statements and choose the correct option.
Assertion (A): Total product will be highest when marginal product is zero.

Reason (R): When marginal product becomes negative, total product increases at

diminishing rate.

(@) Aistrue butR is false.

(b) A is false but R is true.

(c) Both A and R are true and R explains A.

(d) Both A and R are true but R does not explain A.

Je QY Hya fu MU 8, e 3ifiiem (A) 3R &R (R) & w0 | R far mar 81 syt )
Ue 3R et faed &1 9a- B |

YU (A) : ST T SdTE LA Bl § 98 A STe HUHTH I § |
HRUT (R): O AT IS HUMHS Il § , $ IdTG "ed! &R J dgdl g
(@) AT § WIR TR |
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27

28

(b) ATTAd & AfPTRIA T |
(c) A 3R R GHI T § 3R R, A P AR BT
(d) A 3R R I T € AT R, A BT STRSAT T8 Rl B

Read the following statements carefully:
Statement 1 - Budget line shows different point of combinations of two goods that a
consumer can buy given his income and price of both the goods.
Statement 2 —Any point beyond the budget line shows a non-attainable combination.
In the light of the given statements, choose the correct alternative from the following:
(a) Statement 1 is true and statement 2 is false (b) Statement 1 is false and statement 2
is true
(c) Both statements 1 and 2 are true (d) Both statements 1 and 2 are false
FafeRad Syl o1 & A ug:
HYF 1- ol 1 31 93N & Faior & e fogali o aurfdh & e ue Susiiea e
3T 3R Y IE 3N B BIAd B 4TI gY T haT @ |

YT 2 - Tolc WA R B3 Wi g T e TaeH & gfarg |

feu T Syl & Sae W, Ffafed 7 9 98! fade &1 994 sifo:
(@) PYT 1 TAE AR PYT2TAdE  (b) HYT1TAd @ IR HYT2JI
(c) PYT 1 3R 2 GHI I § (d) PYT1 3R 2 THI 3T &

Consider the following picture: -/ g o R AR eifsE?

In which competition is the shape of AR and MR Curve found in the above picture?

SRIad fod # 3MId SFTH Ud THwid 3 ash [ ufaaifiar & gifar & 2
(A) Perfect Competition / qﬁqﬁaﬁﬁm (B) Monopoly / THIUPR
(C) Oligopoly / SAMYBR (D) None of above/ ®Is gl

Bring out the main points of difference between Positive and Normative Economics.
IHRIAD R TS RS & & 3R & a7 foigali R uerer Sifem |
OR/3Ydr

What is the likely impact of ‘Sarva Shiksha Abhiyan” and 'Skill India Compaign’on PPC of
Indian economy?

YR 3fTaRIT & IdTeT IHTGT Ish TR I 1187 T 3R 'HId YR ST &7
JUIfIT gHTd =T 8 ?
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30

31

Read the following passage carefully-
Firms must weigh the opportunity cost of producing one good versus another. A farmer
with farmland suited for both corn and soybeans must decide how much of each crop to
plant. As the price of soybean falls, more and more land will be used for plantation of
corns. Oil refiners will be guided by the relative price of fuel oil, gasoline, and kerosene oil
in deciding how much of each to refine. Higher price of fuel tends to lower the supply of
other refined oil products. Firms must compare today's prices with those expected in the
future.
Answer the following questions based on above passage-

A- What are the various factors that determine the supply of a commodity?

B- If the price of soybean rises, what will happen to supply of corns?

Frafafad e &1 sae 9§ ufeu-

W BT T I S QORI a¥] & IdTad DI 3AIR AN DI gaT d-t dret | o foram
& U HIHT SR T a1 & e Iugad S 4l §, I8 I8 0 A1 g1 {6 TS
@1 forat AT 95 SU| S 81 AT & S TR, 7% S Wt & o it ¥ siftre
¥ &1 IUTIT foran STE| e 9 ReigR Tieli= ok st & da &1 wrdle Siud & SUR
R g T B & UAF DI fha1 URpd FRAT 81 349 DI St SHd I 37 URSHd dd
IATCT BT IMAf B B S Bl HufG! Bl TS Y BIAH B Ja HiIsy F fdd Bradl
Hiqwr & S(Uférd Siadl 9 o3 a1y |

RIS TR & YR W Frafaf@d vl & sw dfvme-
A- fodt g% Y 3Mufd B B9 P F I Fefid Fa 82
B- Ife AT &1 HIAd Fedt g df Hadbl BI 3TYfd TR FHeHT 1 YHTd RTT?

Calculate the Price Elasticity of Demand of commodity X if, with a rise in the price of good-X
from Rs.100 to Rs. 150, the quantity demanded falls by 50% and comment on it.

I X D! G DI ST A B T0ET DY, Jfe GG -X DI DIAd T % 100 9 T 150 DI gfg &
1Y a BT AN B AT 50% TR et § 3R 39 W fergoft off &3

OR/3MYdT

Explain the law of diminishing marginal utility with the help of a utility schedule and diagram

SIIHH JiAid SUTIRTar Fad &1 SUTIRIaT difeidsT Ud a1 A gRT 99su|

From the following schedule find out the level of output at which the producer is in
equilibrium,

(use MR and MC approach) Give reasons for your answer.

fafafRad S I (@ ST Td W dRTd SUNTH &1 TN Hb) TG Bl TR

1A HI, o R IATEH A | ¢ |30 SR & [ HRUT T |

Output MC TR
1 24 20
2 20 40
3 16 60
4 20 80
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5 24 100

32 Explain the relationship between TPP and MPP with the help of a schedule and diagram by
keeping one input as constant.

T ST RRR I@HR T Hifdd IadTG SR W Hifcrd IdTe & 7 Gay Bl gt Td
1 o 1 Fgrdn 3 JHSy |

33 Answer the following questions:
frraferad ugl & IR difere ;

a. Explain any three properties of indifference curve.

S g% & fohgl i faxiwdrel &1 R S|

b. Differentiate between cardinal and ordinal Approach of utility

U1 9T UG HH a1 IUANRIAT €10 § 3R 9arsu |

34 How is equilibrium price of a commodity determined? Explain the role of govt. when market
price is more and less than the equilibrium price. Explain with suitable examples

Iga ®iFd &1 YR H¥ HRA 8?2 TR HAd &1 Gdad SFd O 31w a1 FH g1 W
WBR DI T YWD G ? 31601 Afgd IHsy |

OR/STYdT

Answer the following questions :

fraferfed gyl & IR difore -

(i) What are the points of difference between pure and Perfect competition.
[ Ud quf Ui ifiTa & &1 3ieR 87 fobgi <fi bl W BT |

(i) Explain any four features of perfect competition.

! forgl IR T faiwdrsil &1 Iwera BT |

****************************************W /EN D khkkkkhhhkhhkhhhkhhkkhhkhhhkhhhkhhkk®
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